FT2[0IFKZE AL X

e S R BRI R =

2 B[k WRAEMA—7EH 1 FH 88 4 I % 8% % N = % Kk OF

£ & T ¥|looo 000 000 | o [13 5 0 0 0 3.5 9 1 0

il & @ ¥oo0o0 001 10 x | 2 [ii) 26 8 1 1 4 3 2 7 2 0
( )

@) e £ ) EEET ) BE % O SAIKH VAREST L

[#] L, Pk — FnH \A=t-t1) mL

[filr] 75 — KFnH v L (F)
VEE L Vil 7L - 7L (il
2 [ FETREKYG 2 W 2 & o2 5w s = 5%k kK pf
A Blo10 000 000 | 1 [#41 31 4 1 1 0 2 4 5 1 1
i & #H —|1 11 00 1 1 0 x | 5 [iL)] 28 9 5 4 4 2 4 5 2 2

( RRTWr10:46~11:12

GO BHIERM () @A (O Rl 5 s B VAR L

[12] kB, FRE, = b — VR VBT PERRS (i)

(1] AT — 2k S mL ()
VER AL Vi 7L - 7L (il
2 [a]¥ e RSy 2 B 14 4 % m0% % U = 7% & Ot
S o oo 300 001 | 4 [22] 35 12 3 1 4 4 2 12 0 0
&) L ¥o00 040 11 x | 6 [F]131 11 5 0 3.3 5 7 1 0

( )

GR BFE ¥ ) FEHEEE O EL E O Fweer  VARD =L

[£6] e, xR, L — BT, AR \=t==1) B, /SR ()

[#] ik, 7INBE — M, P oy PERREGRTE AR, AL (%)
VEE FLLEE), NEL ) Vi 7L - fhex Ki% ()
2 [k ilBmERERE 1 KR 59 4 o2 5w s = 5% kK pf
K K P %000 000 000 | o [X]128 3 0 1 1 4 4 6 1 0
H i L %000 020 00 x | 2 [A]25 7 2 0 3 2 5 4 2 1

( )

GO EBE OB O GHEE O EEL O R VARHD L

[K] FHL, B, KFE — {EEER (VA=Y ta) 7L

(=) N — G R 7L (R)
Vi L Vi 7L - L (8
2 [ali fuEmRERE 1 B 43 & o2 5w s = 5% kK f
il & % =Zlooo0 000 0 | o [fiJ 21 2 0 0 2 0 5 2 1
K lo1o 142 x | 8 [R] 2512 8 1 3 3 1 5 1 0O

( 7Bl —/L R )

GO RS ) EL E O O) Sk E O M B VARH s (1)

[] TR — TIER V84T /NBF S, ZINAE OR)

7] /B — VERESR T 7L (il
VEE THERL () Vi 2L - /ANEL, PEIE (30
2 [ fETREKYS 2 W 16 4 o2 5w s = 5%k kK pf
sk El 1 02 0 0 2 10 1 | 7 [8]39 15 5 2 2 3 2 10 3 0
£ mfo o1 001 000 | 2 [f4]132 5 1 0 2 2 12 7 4 1

(

@) WHEAER O LFE B ) R O mEHt VARET 2L

] A 2 A, B — /NI VST 7L

(4] K, Y — Lk s HAE, W, NS (30
VELE A ARG, KWL EE2 () Vil 72 L - L (#4)
2 [ali ARG 2 B 7 o o2 5w = 5% kK f
N OB KT 00 010 101 | 4 [/h] 3110 4 2 7 3 4 10 3 1
il & #& FEjo 0 0 00 1 3 0 Ix | 5 [i4] 33 9 3 2 2 7 3 12 1 0

( )

G =M ) & B O EEEZE O Al VARH mL

(/)] it — A% VBT y=Ral(()

[fil] CEN — %)l S L (/)
VEER Fit20) Vi 2L - (L, &5 il
2 [H]#% FETRERY 1 KR 54 4y T &2 R0 /M = 7%k kO
2 f1 % @100 100 0 | 2 [E2] 29 8 2 0 O 1 4 7 2 1
il & F #|9 11 000 X | 11 [} 3012 7 0 0 3 2 4 0 0

( TE=2—/L R

GO BH R O MEFF O KEME ) pEme VAR A (flr)

[52] 2By, /HK, PHER — & VBT FHE (), H (i)

(1] iR, 210, P — AKFF, /NEF S H F (1)
VER R (E) Vi 2L - H o, I, AR, BA il



